
RM REVISION TEST -2023 
12 std ENGLISH 
Time: 3.00 Hrs Marks: 90 

PART I 
I) Choose the correct answer for each of the following from the options given. 

A) Choose the most appropriate synonym of the underlined lexical item in each of 
the following sentences. 
I could not bear to intrude upon their privacy. 

(a) predate 
They were childish enough, and in many ways quite artless. 
(a) wisdom 
I have to accommodate my liberty to their liberties. 

(a) hamper (b) hinder 

(3 x 1 3) 
1. 

(b) encroach (c) protect (d) help 

(b) knowledgeable (c) innocent (d) none of these 
3. 

(c) fit in with (d) reject 
B) Choose the most accurate of the four given words which is opposite to the 
usage of the underlined word in the following sentences. 
You must be saving up to emigrate America. 

(a) migrate 
Fortuitously. a guest visited our house.. 
(a) luckily 
The end of such liberty would be universal chaos. (a)orderliness (b) commotion 
(c) disorder (d) confusion 

(3 x 1 = 3) 

4. 

(b) shift (c) transfer (d) immigrate 
5. 

(b) peacefully (c) unfortunately (d) happily 
6. 

C) Answer all the questions. 
Choose the clipped form of "Zoological Park". 
a) park b) Zoo c) Zoology d) Biology 
Choose the blended form of 'diplonomics' 
b) diplomacy + economy c) diplo + economy d) diplomacy economics 
Study of codes is called 

a) Cynology b) Cryptology c) Cytology d) Criminology 
10. 

(14x 1 = 14) 

1. 

8. a) diplo+ economics 

9. 

Choose the meaning of the idiom found in the following sentence. 
When asked to reconsider his decision, the CEO of the concern put his foot down 
a) accepted 

11. Fil in the blanks with apt phrasal verb 
I need to.. and take a little nap. 
a) let upP 
Choose the meaning of the foreign word in the sentence 
English is the Lingua Franca of many countries. 
a) Mother tongue b) vernacular language c) official language d) Strange language 

13. 

b) refused c) felt happy d) felt sad 

b) lie down C) light up d) let in 
12. 

Choose the correct combination for the compound word "clear cut". 
a). Adjective + verb b) noun + verb c) Adverb + verb d) Adjective + noun 

14. Form a new word by adding a suitable suffix to the root word 'book'. 
c) ile let d) ly a) ise b) 

Choose the correct expansion of the abbreviation ICMR. 
a) Indian Counsel Medical Research 
c) India Council of Medicinal Research 
Choose the penta syllabic word from the given options: 
a) brightb) documentary 

15. 
b) Indian Council of Medical Research 

d) India Counsel of Medical Research 
16. 

c) political d) observer 
17. Choose the most appropriate question tag for the following sentences. 

Ruthuraj scored first century in T20, ..? 
a) didn't he b) does he d) doesn'the RM 12 ENGLISH Page - 1 

c) did he 
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